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General Instructions to the Candidate :

This question paper consists of objective and subjective types of

38 questions.

This question paper has been sealed by reverse jacket. You have to cut
on the right side to open the paper at the time of commencement of the
examination. Check whether all the pages of the question paper are

intact.

Follow the instructions given against both the objective and subjective

types of questions.

Figures in the right hand margin indicate maximum marks for the

questions.

The maximum time to answer the paper is given at the top of the
question paper. It includes 15 minutes for reading the question paper.
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Four choices are given for each of the following questions /

incomplete statements. Choose the correct answer and write the

complete answer along with its letter of alphabet. 8x1=8

1. The one who became the Peshwa after the First Anglo-Maratha War

was

2 B ]

3 5
l_.
i

(A) Narayana Rao

(B) Madhav Rao II

(C) Nana Phadnavis

(D) Raghunath Rao.

2. The Drain Theory was explained by

(A) Dadabhai Naoroji

(B) Mahatma Gandhi

(C) A.O.Hume

(D) Bal Gangadhar Tilak.
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(A) America

(B) Russia

(C) China

(D) India.

(A) Karnataka

(B) Kerala

(C) Tamil Nadu

(D) Telangana.
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AT

called as

(A)

(B)

(C)

(D)

(A)

(B)

(€)

(D)

Development

1962

1968

1976

1986.

Per capita income

National Income

Human Development Index.
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An important women movement is

(A)

(B)

(€)

(D)

Alcohol prohibition movement

Untouchability prevention movement

Labour movement

Farmer’s movement.

The best example for labour without pay is

(A)

(B)

(€)

(D)

Road side business

Painting for self satisfaction

Working in industries

Working in schools as teachers.
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AT

9.

10.

11.

12.

13.

14.

15.

16.

CCE RR

Why is March 15, 1962 an important day in the history of World

Consumers’ movement ?

Why are the Tropical Deciduous Forests known as ‘Monsoon

Forests’ ?

Which treaty ended the II Anglo-Mysore War ?

Which neighbouring country invaded India in 1962 ?

Who said that “The true development of India is the development of

its villages” ?
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17.

18.

19.

20.

21.
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II. Answer the following questions in two to four sentences / points

Mention the results of the Battle of Buxar.

How was Goa liberated from the Portuguese in 1961 ?

Which factors have influenced on the Foreign policy of India ?

OR

o

=]
;o
o

What were the major problems that emerged after World War II ?

List out the important Environmental movements.

Which are the main physiographic divisions of India ?
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23.

24.

25.

26.

27.

28.

What are the causes for soil erosion ?

Mention the objectives of economic development.

Which are the types of Bank Account ?

How did Sangoli Rayanna fight against the British ?

What are the aims of Arya Samaj ?

‘The revolt of 1857 failed due to various reasons.’ Explain.

Explain India’s relationship with Russia.

CCE RR
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29.

30.

31.

32.
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untouchability ?

What are the factors that influence the localization of industries ?

OR

country.

What are the effects of floods ?

What are the causes for the changes in the supply of factors of

production ?

OR

What are the key features of the Panchayat Raj System ?
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33.

Mention the characteristics of an entrepreneur.

CCE RR

Answer the following questions in about eight sentences / points

each :

4%x4=16

34. Explain the role of Subhash Chandra Bose in Indian National

struggle.

35.

36.

37. List out the various types of agriculture practised in India.

<K

RR (A)-(600)-13024

»>



CCE RR 11 85-E

<

I. 38. Draw an outline map of India and mark the following: 1+4=5

a) 82% °E. Longitude

b) River Narmada

C) New Mangaluru Port

d) Bhakra-Nangal project.

Alternative Question for Visually impaired Candidates only :

( In lieu of Q. No. 38)

Mention the main aims of the Multipurpose River Valley projects.
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